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[4] � �3��� � ��� #��$ � �

  
��� A type of intelligence test in which 

the difficulty level of questions 

gradually increases and the time 

factor is secondary : 

[1] Verbal Test  

[2] Power Test 

[3] Speed Test  

[4] Performance Test 
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[3]� 
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[4]� 5 � �� * �' �� 5 �6��'�

  

�� A teaching-learning strategy in 

which small groups of students with 

different level of ability use a variety 

of learning activities to improve their 

understanding of a subject : 

[1] Multi-sensory learning 

[2] Team teaching 

[3] Co-operative learning 

[4] Programmed learning 
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[1] ��# �� $ �� ��� �'�

[2] �� 	 �� � ����'�

[3] ' 8 �� �� � A �� � �� �� �'�

[4] ' �� � �� �� � 3�$ � �� �� �'�

  
��� Spranger's classification of 

personality is related to which 

approach of personality assessment ? 

[1] Trait Approach�

[2] Type Approach�

[3] Instinct Approach�

[4] Psychoanalytic Approach�
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  "�� Which of the following is not a 

symptom of good mental health of 

students ? 

[1] Living in fantasy world 

[2] Balance in life 

[3] Knowledge of our potentials and 

limitations 

[4] Free from undesirable worries 

#�� D&� � � 	 � �	 �� �� � � 5 ��� � '� �� 4� �� � � �� � * �� 6��
�� � ��� � � ' � � � 5 
' / �� � -�� � �� -. %� �� � � �-� 5 ��� �
* � � 6�� 5 �� � � < �� = � � � ��) � � �� � ��	 =� 	 � � �� � �� -. !E�
0 -� �	 
 � �� 	 �� � 	 #� � �� �?' 	 � 0  �2 � � 	 � � � 	�
� �� -� $ �� -. �@ �

[1] � '� � � �

[2] �� �� �' � �

[3] �� ��� �$ �� �

[4] � �
/ � ����

  
#�� 'When an adolescent is unable to 

show anger to his parents, then he 

shows his anger to his younger 

brother.' This is an example of which 

type of defence mechanism ? 

[1] Repression  

[2] Regression  

[3] Projection  

[4] Displacement 
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[1] 
 -&� �� �A � � �0 �F � �

[2] ' 8 �� �� � A �� � 0�F�

[3] 
	 # '�� �

[4] 
 �� �� $� ����

  
$�� According to Piaget's Cognitive 

Development Theory, 'The basic unit 

of the cognitive structure that helps 

in the implementation of cognitive 

behaviour', is termed as : 

[1] Reflexes  

[2] Basic Instincts 

[3] Schema  

[4] Conservation 
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  %�� "Emotional Intelligence may be 

defined as the capacity to reason with 

emotion in four areas – to perceive 

emotion, to integrate it in thought, to 

understand it and to manage it."  

Who gave this definition of 

emotional intelligence ? 

[1] Daniel Goleman 

[2] Mayer and Peter Salovey 

[3] Peter and Michael 

[4] Halverson 
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  &�� Which one of the following is not a 

direct method for measurement of 

attitude ? 

[1] Interview  

[2]  Projection 

[3] Questionnaire  

[4]  Observation 
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  ��� 'A horse can be brought near water, 

but cannot be forced to drink.' This 

statement reveals the truth of 

Thorndike's which law of learning ? 

[1] Law of Readiness 

[2] Law of Exercise 

[3] Law of Effect 

[4] Law of Multi Responses 
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  �'�� Which of the following is not a level 

of teaching ? 

[1] Basic Level 

[2] Memory Level 

[3] Understanding Level 

[4] Reflective Level 
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  ���� Which one of the following is not a 

part of Bronfenbrenner's Ecological 

System theory ? 

[1] Micro system   

[2]  Macro system 

[3] Minor system   

[4]  Meso system 
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  �
�� Which pair is not correct with reference 

to emotions and basic instincts ? 

 Emotion  Basic Instinct 

[1] Anger – Repulsion 

[2] Ownership – Collection 

[3] Wonder – Curiosity 

[4] Fear – Escape 
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  ���� Which way is the most appropriate 

for social development of 

adolescents ? 

[1] Discussion on socialization 

[2] Essay competition on social values 

[3] Organizing group activities 

[4] Documentary on social relations 
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[4] 
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  �"�� According to Maslow's Need 

Hierarchical theory, 'Esteem Needs' 

are which type of need ? 

[1] Personal  

[2] Social 

[3] Intellectual  

[4] Emotional 
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  �#�� Which of the following task is not 

related to Baqer Mehdi's test of 

Creativity ? 

[1] Unusual uses related task 

[2] New relation between pairs 

related task 

[3] Product improvement related 

task 

[4] Ask and guess related task 

�$�� �� �� ��� �� �� ' � � � 
� � 	 �. � 4
�� 	 / �� � � . 0�2 � 	�
�� �� � 9�� �5 � �� �	 �� 
� � � �� � ' �� �
-# � � -# �� -# �� -# �� -# � � -. � @�
�

[1]� 	 � � ) � � � �#� �� � � 70 �2 �� �8 $ �� � �� 
 '� �� � -# � �
-�� � 
	 � � !�

[2]� � . 0� 2� 	 � �� �� �9� �� �F � 5 ��45 � �� ��� ��� � �

 �� 
� � � �6� �� -�� � 
	 � #� -�. !�

[3]� � . 0� 2� 	 � �� �� �9 �� �� F� � �	 � 
� 	 � � � ��� �9��
5 � 0�' �� � �	 � � ��� � �� �� �� 	 � �# �-. � !�
�

[4]� � . 0� 2� 	 � � �� � �9� �� �F� 	 � ���
5 � � � � ���	 � �� 	� � 	 �� $ � �� ?�9�� -�� � #� -. � !�

  �$�� Which of the following statement is 

not correct with reference to 

individual   differences ? 

[1] No two persons can be exactly 

alike. 

[2] Individual differences may 

belong to different areas. 

[3] Individual differences affects 

different dimensions of 

development. 

[4] Individual differences arises 

only due to heredity. 
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  �%�� Who is called the father of Trait 

Theory for study of personality ? 

[1] Allport  

[2] Woodworth 

[3] McDougall  

[4] Eysenck 
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  �&�� Which of the following pairs of 

communication skills is correct for 

receiving the information ? 

[1] Listening and Writing 

[2] Speaking and Reading 

[3] Listening and Reading�

[4] Speaking and Writing�
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  ���� According to Triarchic Theory, 

which of the following is not a type 

of intelligence ? 

[1] Analytical  

[2] Creative 

[3] Theoretical  

[4] Practical 
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'�� According to Kohlberg's theory, 

what level of morality is it, when 

morality includes self-accepted 

moral principles ? 

[1] Pre-conventional  

[2] Conventional  

[3] Post-conventional 

[4] None of these 
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��� Which of the following is not a general 

characteristic of adolescence period ? 

[1] It is a transitional period. 

[2] It is period of unrealism. 

[3] It is time for search of identity. 

[4] It is the threshold of puberty. 
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�� Who developed the Thematic 

Apperception Test for personality 

assessment ? 

[1] Murray and Morgan 

[2] Bellack 

[3] Eysenck 

[4] Allport and Cattell 
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��� What type of reinforcement schedule is 

it, when reinforcement is provided to 

the learner only after a certain number 

of responses ? 

[1] Fixed ratio 

[2] Variable ratio 

[3] Fixed interval 

[4] Variable interval 
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"�� According to the moral development 

theory of Piaget, adolescence period 

is : 

[1] Stage of moral realism 

[2] Stage of morality constraint 

[3] Stage of heteronomous morality 

[4] Stage of autonomous morality 
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#�� Which of the following factors 

positively affects learning ? 

[1] Meaningless content 

[2] Lack of maturation 

[3] Lack of motivation 

[4] Informational feedback  
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$�� Rohit helps others to get praise. This 

is an example of : 

[1] Intrinsic Motivation 

[2] Extrinsic Motivation 

[3] Innate Motivation 

[4] None of these 
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%�� What will be the intelligence 

quotient of a 15 year old boy, when 

his mental age is 12 ? 

[1] 80 [2] 90 

[3] 100 [4] 110 
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&�� As a teacher which of the following 

work would not be done by you to 

develop the creativity of the students ? 

[1] Encouragement of originality 

[2] Removal of fear 

[3] Freedom to respond 

[4] Avoidance of divergent thinking 
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��� Development which proceeds from 

'centre to the periphery', is known as : 

[1] Cephalic Caudal 

[2] Proximodistal 

[3] Spiral�

[4] Circular�
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  �'�� Hunger and Thirst is which type of 

motive ? 

[1] Extrinsic [2]  Acquired 

[3] Intrinsic [4]  Social 
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� ���

(��)�!��"�2��"�2��"�2��"�2�����
�$���.���

[1] !
���+�
���!���@�!	
���+�!���'�

[2] !%���+��%A@�!%2��+�BC��

[3] !%�(���+�!D�2�@�!%�(���+��%,'
��E�

[4] 5
���+�"	*�%@��
���+��%����

�!�� �!��� 2%F�� !
.
� *������� �
'�&� 
�;'� 2���
��'%;�� 8*������:� ��?
� ��.�+!�� !�G�� ���
�
�� ,��������4�

[1] !2%
�'
�#��!�G��

[2] ����
�#��!�G��

[3] ���

�#��!�G��

[4] H'�;�
�#��!�G��

�"�� 9�2���!����.�+!��
�;'����%I���%I���%I���%I��.�4�

[1] �%��� ��H'
�� �!
�>��J��.&�

[2] �2�!����2���2�%�'��
%"�����6��.�&�

[3] 
����6
�!���C������ � ����.&�

[4] ���������������'��3'���� ��
���.&�

�#�� ��!� ��?
� 2��� ��� !�� ��*��� ��!���K� ���
��'�����%����.�4�

[1] �*'���� [2] �	
���,��

[3] ��%�J��� [4] H'��*��



����� �������

����	
��
��� � �

�$�� !2�!����
(��)�!���!����!����!����!�����
�$��#%������

[1] ������� +� �2�*�� '�

[2] !�#
��'� +� �D�%/���

[3] #�. ���� +� �L�%�

[4] ����J� +� "�%
�����

�
�� ��!��
�$��2����
!���!�	*�������'�����%���
�.�4�

[1] '%�*���J �

[2] 
'��
(I�

[3] � ���
����

[4] ���J% �

 %�� ��?
������ 2��� 
,����%<2� ��� 
(��)� !�� 8>I�:�
��?
�9�2���!����!���?
���������������4�

[1] ���.'��

[2] �'�2�

[3] M��(�� �

[4] >�2��

 ��� �
���2����
(��)�!���!����!����!����!�����
�$��#%������

[1] ��D'��� +� ��*�D'���

[2] �	2%��� +� ����2%���

[3] �$���� +� '=��=���

[4] �%D!�� +� �����!��

 ��� 9�2��� !�� ��!� ��?
� 2��� 8��
):� ��D''� ���
��'����������������������%����.�4�

[1] �% ���)� [2] !��
)�

[3] "%��
)� [4] � �
)�

 ��� �N#� ,�����
(��)�!��8�:�
,�������N#� ,��
5=������������

[1] ����J�

[2] 2C*����

[3] ���%�

[4] 
	��

  �� 8���%:���?
�!�����2����
�����,���.���

[1] �����
��

[2] ���%����

[3] ���%���

[4] ���%D
�

 !�� 8�D!2+�
E��
:����
(��)�!���!����!����!����!���� �
�$��
#%������

[1] ���2���� +� ���201��

[2]  O�%� +�  5!��

[3] �����,�� +� �D=� �

[4] 25��� +� 2�=���
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���� Which of the following options 

express the correct meaning of the 

sentence given below ? 

He is too cute to overlook. 

[1] He is too cute and he can be 

overlooked.  

[2] He is too cute but he can be 

overlooked.  

[3] He is so cute that he cannot be 

overlooked.  

[4] Although he is not cute, but he 

cannot be overlooked. �

���� Change the narration : 

Kavin said to Mr. Cowper, "Please, 

be kind to me." 

[1] Kavin requested Mr. Cowper to 

be kind to him. 

[2] Kavin requested Mr. Cowper to 

be kind to me. 

[3] Kavin asked Mr. Cowper to be 

please kind to me. 

[4] Kavin asked Mr. Cowper that he 

must be kind to him.�

���� Fill in the blank with the correct 

form of verb : 

You had better …………. your 

hands before you eat. 

[1] been washing 

[2] washing 

[3] washed  

[4] wash�

�
�� The word 'garrulous' means : 

[1] talkative [2] abusive 

[3] violent [4] abundant�

� �� Arrange the following jumbled 

options in the correct order and then 

choose the correct option : 

(i) too many (ii) spoil 

(iii) the broth (iv) cooks 

[1] (i), (iv), (iii), (ii)  

[2] (i), (iv), (ii), (iii)  

[3] (iii), (iv), (ii), (i)  

[4] (iv), (ii), (i), (iii) �

���� Fill in the blank with the correct 

option : 

Let us stay here, while it ……….. . 

[1] is raining 

[2] was raining 

[3] has been raining 

[4] had been raining�

���� Choose the part of the sentence that 

is grammatically incorrect : 

The thief took towards/his heels/on 

seeing/the Police-van arrive. 

[1] The thief took towards 

[2] his heels 

[3] on seeing 

[4] the Police-van arrive.�
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���� Choose the part of the sentence that 

is grammatically incorrect : 

He has committed / a blunder / 

mistake / today morning. 

[1] He has committed 

[2] a blunder 

[3] mistake 

[4] today morning.�

���� Fill in the blank with the correct 

form of verb : 

Neither you nor she ……....... made 

the mistake. 

[1] have [2] has 

[3] had [4] did�

���� Fill in the blank with correct 'Modal 

Auxiliary' : 

Passengers ………… not walk 

across the railway line. 

(Prohibition) 

[1] should [2] can 

[3] need [4] must�

���� Choose the correct passive of the 

given sentence : 

 Did he kill a lion ? 

[1] Did a lion killed by him ?  

[2] Was a lion killed by you ?  

[3] Was a lion killed by him ?  

[4] Had a lion been killed by you ?�

���� Fill in the blank with the correct 

option : 

Mr. Sudhir Soni is ……….. R. A. S. 

Officer. 

[1] an [2] a 

[3] the [4] ×�

���� Fill in the blank with the correct 

option that completes the idiom : 

A rolling stone ………. . 

[1] carries rough winds 

[2] kills no one 

[3] gathers no sauce 

[4] gathers no moss�

�
�� Fill in the blank with the correct 

option : 

When Monisha reached the bus 

stand, the bus ……….. . 

[1] was already left 

[2] had already left 

[3] already left 

[4] has been already left�

� �� Which of the following sentences is 

the correct option to express present 

perfect continuous tense ? 

[1] Mr. Mehta has been waking for 

2 O'clock in the morning. 

[2] Mr. Mehta has been waking 

since 2 O'clock in the morning. 

[3] Mr. Mehta has been waked since 

2 O'clock in the morning. 

[4] Mr. Mehta has been waking 

from 2 O'clock in the morning.�
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�������������������	�������������������
�������������������	�������������������
�������������������	��������������������������������	�������������������	�������������������	�������������������	������������������ ����������!�
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����������������������������������������������� ���!"���������#$�%�����������������&���#�'���&���#�'���&���#�'���&���#�'�����(!�')���*�
���������	
���������	��
�����
��������
�������������
����	������	
�������
������
����

'��� �+��������������X������Y ��������������,�
�+�%���-��%.��)/0�01*�����Y��-�!%2�3��
X�������-��	��%�!45�%0-�0��������Y�����)/0�
��������������01�6�

[1] #$�%  

[2] ����7� 

[3] !+��  

[4] !��'��

  
'��� X and Y are facing each other at 

sunrise. The shadow of Y is falling 

towards right of X, then Y is facing 

in which direction ? 

[1] North  

[2] South 

[3] East  

[4] West 

'��� �������� ���-� ����'�� �+%-����� 
��%���-�
����������3�8��9�������:&�����!�-�4.5 8��9������
����%�-�01*����� 
��%���-�'���3� ���-�
!"��� 8��9�� 01�� ���� ������ :�� ���� ���� �-�
'���01���

[1] 10 ���- !"�� 8��9���

[2] 12 ���- !"�� 8��9��

[3] 13 ���- !"�� 8��9���

[4] 15 ���- !"�� 8��9��

  
'��� A boat covers a certain distance 

downstream in 3 hours, while it 

comes back in 4.5 hours. If the speed 

of the stream be 3 kmph, then the 

speed of the boat in still water is :�

[1] 10 kmph  

[2] 12 kmph�

[3] 13 kmph  

[4] 15 kmph 

'��� 10.5 ���-� ��;��� ��� ��� 
���)� ��� ������
�!8����%�� 3.5� ���-� ��;��� ����� 3� ���-�
</'�3�� ������3��2��9�� ����)	���� ����=��� �����
:����01*����)��%��3��!"��%�&�������)��-�
�� �������-�0���-�6�

[1] 112 [2] 126 

[3] 132 [4] 138�

  
'��� A metallic sphere of radius 10.5 cm 

is melted and then recast into small 

cones each of radius 3.5 cm and 

height 3 cm, then the number of 

cones thus formed is : 

[1] 112 [2] 126 

[3] 132 [4] 138 



������ ���'���

��	�
��
���� � �

'(�� �������3��
��%��������>����'?�@�A�B��:����
	�
��%� !%� 3� �>������ ��� '?�@�A� B��:�

:��45�%�
8

3
3 ��)��� 0��� :���� ���� B��:� �-�

���>�����%�01���

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50 �

  
'(�� If the amount is 

8

3
3 times the sum 

after 3 years at compound interest 

compounded annually, then the rate 

of interest per annum is : 

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50  

'��� 1865 ����������������660�	���":-�&���������

0�1�	�1%�1305 ��0��-�&���������01���!%��)�

120 C��D�������������������3�� ��-����>����0-��

&���������01������� ������������������� ���>���/�

&���������0�1�6 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085�

  
'��� Out of 1865 people, 660 can speak 

English and 1305 can speak Hindi, 

but 120 persons cannot speak either 

language, then how many persons 

can speak both languages ? 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085 

''�� '�����-��-�������20%��-���-�0���:����

!%� ��� �"�0�� 800� E!��� ���� 12.5� ���"��

'���� ;�����  �%-������� 01�� ���� '�����-�

�+���-���!"������"������-�01�6 

[1] 12 E!��  

[2] 14 E!���

[3] 15 E!��  

[4] 16 E!���

  
''�� A reduction of 20% in the price of rice 

enables a customer to purchase 12.5 kg 

more for Rs. 800. The original  price of 

rice per kg is : 

[1] Rs. 12  

[2] Rs. 14�

[3] Rs. 15  

[4] Rs. 16 



� ���)��� ������
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')�� �����:�� ��� ��� ����.�� ���� �����:���
����.�� ��� 12� �)��� ����� ���>�.�� ��� 5�
�)���01*�����#��������>�.��36 0�����������;��
01����

[1] 2726 [2] 2736�

[3] 2796 [4] 2826�

  
')�� In a division sum, the divisor is 12 

times the quotient and 5 times the 

remainder. If the remainder is 36, 

then the dividend is :�

[1] 2726 [2] 2736�

[3] 2796 [4] 2826 

'*�� �����F�7�-����	����!�������-�:����
�

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S�

  
'*�� Find the next term of the following 

series : 

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S 

'��� ���-� �� ��� ���� 5, 9, 13� ��� ������:��
�%���!%�?�����2, 6������10����>��&'���
01*����-��&���2��9-��� ���01���

[1] 602 [2] 592�

[3] 572 [4] 582�

  
'��� A number when divided by 5, 9, 13 

leaves remainder 2, 6 and 10 

respectively. The least such number is : 

[1] 602 [2] 592�

[3] 572 [4] 582 

)+�� ��� ����'�� �+9� ���>��� ���� "PARTICLE"�
����"USBQFMDJ"������"GENERATE"�
����"FOFHFUBS"��� ���:����01������3�-�
������+9� ���>��� ����� "DOCUMENT"�����
�� ���:��������
�

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF�

  )+�� In a certain code language 

"PARTICLE" is written as 

"USBQFMDJ" and "GENERATE" 

is written as "FOFHFUBS", then in 

same code language "DOCUMENT" 

will be written as : 

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF 



������ ���*���

��	�
��
���� � �

)��� �-��������P, Q ���� R G�%�����9�1��5�8��9��

���� ��%���01*����R, Q�����)�)�-��������

�����Q, P�����)�)�-��������'����01�������

	��������P�G�%��91���������%�������������

����������6�

[1] 22 8��9�� [2] 25 8��9� 

[3] 30 8��9�� [4] 35 8��9� 

  
)��� A tank is filled in 5 hours by three 

pipes P, Q and R. The pipe R is 

twice as fast as Q and Q is twice as 

fast as P. How much time will pipe P 

alone take to fill the tank ? 

[1] 22 hrs [2] 25 hrs 

[3] 30 hrs� [4] 35 hrs 

)��� ����
13

13

−

+
=x ����� ,

13

13

+

−
=y ����

( )22
yx + ��������01���

[1] 14  [2]  12    

[3]  13 [4]  16�

  
)��� If 

13

13

−

+
=x and ,

13

13

+

−
=y  then the 

value of ( )22
yx +  is : 

[1] 14      [2] 12   

[3] 13 [4]  16 

)��� �45��������-����!��D������A�&��-��	��%����

10����H�����!%������B����-��	��%����14����

H�����!%�01���������	!�-��H������/�!%H!%�

&��� ���-� 01��� ��� A &��-�� 	��%� ��� 24����

H�����!%�0���:��-�01��!��D������45��������-�

�� �������-�01�6�

[1] 31 [2] 33 

[3] 37 [4] 39 

  
)��� In a row of girls, A is 10th from the 

left and B is 14th from the right. If 

they interchange their positions, A 

becomes 24th from the left. How 

many girls are there in a row ? 

 

[1] 31 [2] 33 

[3] 37 [4] 39 

)(�� ����)�����%�����H�)�����15%������!%�
&�'���01��	�%�#����#���18 E!�� 	�
���
���� &�'�� 0������ ���� #���� ����� 18%� 0���
:���*�#���H�)����?���+(��IEJ����K�01���

[1] 360  

[2] 540 

[3] 600  

[4] 640�

  
)(�� A shopkeeper sells an article at 15% 

gain. Had  he sold it for Rs. 18 more, 

he would have gained 18%. The cost 

price (in Rs.) of the article is : 

[1] 360  

[2] 540 

[3] 600  

[4] 640 
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)��� ����H&���-�:��� ���9000�01������!)E>�����

�-�:��� ����@�A��%�5%�	�1%���0��	����

�-� �@�A� �%� 8%� 0��� ���� ��� �>��� ����

:��� ��� 9600� 0���� ���� !)E>����� �-� �� ����

01���

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600�

  
)��� The population of a town is 9000. If 

the males increase by 5% and 

females by 8%, the population would 

be 9600 in a year. The number of 

males is : 

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600 

)'�� D, C �����E������&��01��A, E����	�
���

��&���0-��01��C, A������&��01��D, B����

	�
��� ��&�� �0-�� 01�� ���� 3����� ��� ��1��

�&�����&��01�6�

[1]� A�� �

[2]� B�

[3]� C� �

[4]� D�

  
)'�� D is taller than C and E. A is not as 

tall as E. C is taller than A. D is not as 

tall as B. Who is the tallest among 

them ? 

[1] A  

[2] B 

[3] C  

[4] D 

))�� ��� �45�-� ��� .��9���"�.� �-� 	��%� 3�����

�%���0)��X�����0�����LL�0���%�������:-�

��� 3���1��� !)�� �-� �45�-� 01MM�� ���� �45�-�

���X��������!"��%���&�
��01�6�

[1]� �!��� �

[2]� ���3��

[3]� &0�� �

[4]� �����

  
))�� Pointing to a girl in photograph, X 

said "She is the daughter of my 

grandfather's only son". How is the 

girl related to X  ? 

[1] Father  

[2] Brother 

[3] Sister  

[4] Mother 



������ ���+���
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)*�� �����>!�3�:�����-�%����45-�!+������!��'��

�-�	��%�:��%0-�01������#$�%��������7���-�

	��%�0���'��%0-�01������#����
�)	�/�����

����������:�����6�

[1]� #J - !J  

[2]� #J - !+J 

[3]� �J - !+J  

[4]� �J - !J�

  )*�� A steam engine train runs from east to 

west and wind is blowing from north to 

south, then the smoke from the train 

would blow in which direction ? �

[1]� N - W  

[2]� N - E 

[3]� S - E  

[4]� S - W 

)��� ������� ���F�7�-����	����!��01���

�

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232�

  
)��� The next term of the following 

number series is : 

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232 

*+�� 9 ?������ ��	�������	�1���n 01������#�����

���� 	��-� �� ��	���� ���� ������� �%� �����

:������������	�1���������0���:������6�

�

[1] �0-������%0�����

[2] 1 �-��@�A�0���-�

[3] 1.5 ��-��@�A�0���-� �

[4] 2��-��@�A�0���-�

  
*+�� The average of nine consecutive 

numbers is n. If the next two 

numbers are also included, the new 

average is : 

[1] remain the same 

[2] increase by 1�

[3] increase by 1.5 

[4] increase by 2 
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*��� 0�%��7��� ��� ���� H�������� ���� �+��H���� �-�

%���%����
������0��%���%�H�������N!�

����	�
��+�'�����������01�6�

[1] �)(���!)%�%�>9O-��#P���	�1%�����4�����

���:-��	����%7��

[2] ����%� %�>9O-�� #P��� 	�1%�  �!%����

���:-��	����%7� 

[3] ��0%� ���:-�� 	����%7�� 	�1%� &-%�

�����%�=5����:-��	����%7��

[4] 	&+��0%� ���:-�� 	����%7�� 	�1%�

 ����,0-,%1�������:-��	����%7��

  
*��� Which places of Haryana have been 

notified as Ramsar site under 

Ramsar convention of UNESCO ?�

[1] Sultanpur National Park & 

Bhindawas Wildlife Sanctuary�

[2] Kalesar National Park & 

Khaparwas Wildlife Sanctuary 

[3] Nahar Wildlife Sanctuary & Bir 

Shikargarh Wildlife Sanctuary�

[4] Abushahar Wildlife Sanctuary & 

Khol-Hi-Raitan Wildlife Sanctuary�

*��� ������������������!%���'�%��-�:����

(i) 0�%��7��� ���� ������)Q�� ��H���� �-�
H���!����>���2002 �����-��3����-*�
�

(ii) �����+����R-���!���0�%��7���%�;�����
!0���������)Q�����*�
 

[1] �����(i) �0-�01*�

[2] �����(ii) �0-�01* 

[3] (i) ����(ii) ������� �0-�01�*�

[4] (i) ����(ii) ������� ����01�* 

  *��� Consider the following statements :�

(i) The institution of Lokayukta was 

established in Haryana in the 

year 2002.�

(ii) Justice Pritam Pal was the first 

Lokayukta in the State of 

Haryana. 

[1] Only (i) is correct.�

[2] Only�(ii) is correct. 

[3] Both (i) and�(ii) are correct.�

[4] Both  (i) and�(ii) are incorrect.�

*��� 0�%��7������������0%�����L��9-�	�S.���%�
0-%��:M����N!�����:����:����01�6�

[1] �)E�"��� [2] ����-!��

[3] !��-!�� [4] ������-�

  
*��� Which of the city of Haryana is 

known as the 'City of War Heroes' ?�

[1] Gurugram� [2] Sonipat�

[3] Panipat� [4] Bhiwani�



������ �������

��	�
��
���� � �

*(�� 0�%��7��� ��� ������� ��� H��%����� ���� ����
���0��� %�;�� ��%����� H��%�� ��� �:��� !"�T����
01�6�

(i) ��� ���1�&������&%��

(ii) �����������%�����&�

(iii) ��-�����-�����%���S�T��Q� 

�0-�0-�0-�0-������+9����'����-�:����

[1] (i) 	�1%�(ii)  

[2] (ii) 	�1%�(iii) 

[3] (i) 	�1%�(iii)  

[4] (i), (ii) 	�1%�(iii)�

  *(�� Which of the following monuments 

of Haryana have the status of State 

protected monuments ?�

(i) Sheikh Tayyab's Tomb�

(ii) Shobha Sagar Pond�

(iii) Bhimadevi Temple Complex 

Choose the correct code :�

[1] (i) and�(ii)  

[2] (ii) and�(iii) 

[3] (i) and�(iii)  

[4] (i), (ii) and (iii)�

*��� 0�%��7��� ��� 	�1P������ �������� ���� 	�
��%��+��
�)��
��	��������������%�������������������
�����1�-�-���H�����:�����%�01�6�
�

[1] 0�%9O���� �

[2] 0)4��

[3] �'��	�3�	�3�4-�-�

[4] �:���#P�������U�

  
*��� Which of the following institute is 

responsible for the development of 

infrastructure facilities in industrial 

areas of Haryana ?�

[1] HARTRON� �

[2] HUDA�

[3] HSIIDC�

[4] District Industries Centre�

*'�� ������� ��� ���� ��� ��1�� 0�%��7��� ���
%�;�!������G�%�����)Q���0-��0-��0-��0-���0�����01�6�
�

[1] 0�%��7�������) �����-�

[2] !�:�&�����0�%��7���#V'������������
�����
�-���

[3] 0�%��7��� ����� ����� 	������ �����
��H��

[4] 0�%��7���������
���%�	�����������H��

  
*'�� Who among the following is not 

appointed by the Governor of 

Haryana ?�

[1] Chief Minister of Haryana�

[2] A Judge of Punjab and Haryana 

High Court�

[3] A member of Haryana Public 

Service Commission�
[4] A member of Haryana Human 

Rights Commission�



� ������� ������

��	�
��
���� � ���������

*)�� 0�%��7��� ��� ������� ��� %�;�!������ ���� ���

��1�������1�%���0�����6�

[1] �):5W.%�0)�1��&�-��

[2] :��) ������0���- 

[3] 
�����������4��

[4] &�&+�!%������

  *)�� Who among the following Governors 

of Haryana was a civil servant ? 

[1] Muzaffar Hussain Burney�

[2] Jaisukh Lal Hathi 

[3] Dhanik Lal Mandal�

[4] Babu Parmanand�

**�� L!�%��%� !0'��� !�� ���:��M� ��� &�%�� ����
������� ���������������!�=5����

(i) �0� ���:��� !�%��%� ���� ��� 3��3�� ���
N!� ���� �'�0X��� �%�-� 01� 	�1%� �0�
0�%��7��� ��� ��H�� !�%��%���� ��� ���
������-�� �����:�,	������� 4�9�&���
�1��%��%�%0-�01*�

(ii) !"
����!�%��%��������	�Y�	�������-�
�����7�� !�%��%� !0'��� 	���79�� �-�
:�� %0-� 01� 	�1%� !0'��� (ID)� ����
:���� �@
�)� ���� �1���0�� �%��S4�X�� ���
:��45��:����*�

(iii) !�%��%� !0'��� 4�9�&��� ���� #!�B
�� 4�9��
���#!��������������(��7���%-����:��	����
���� H���� '��� 0��)� ����� :����� 	�1%�
!�%��%���� ���� H���� ���:��	���� ��� ����
	�������%����-�	���������0-��0���-*�

�0-�0-�0-�0-���+9����'����-�:����

[1] �����(ii)��0-�01*�

[2] (i)�	�1%�(ii)��0-�01�* 

[3] (ii)�	�1%�(iii)��0-�01�*�

[4] (i), (ii)�	�1%�(iii)��0-�01�*�

  
**�� Read the following statements about 

'Parivar Pehchan Patra Yojna' : 

(i) This scheme identifies family as 

a unit and is creating a reliable 

socio-economic database of all 

the families in Haryana. 

 

(ii) An eight digit unique family ID is 

being issued for every family and 

the ID will be linked to birth, 

death and marriage records. 

(iii) The data available in family ID 

database will be utilized to 

determine automatic verification 

for various welfare schemes and 

families will not be required to 

apply themselves for benefits. 

Choose the correct code : 

[1] Only (ii) is correct.�

[2] (i) and (ii) are correct. 

[3] (ii) and (iii) are correct.�

[4] (i), (ii) and (iii) are correct.�



������ ���(���

��	�
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���� � �

*��� 0�%��7��� ��� %�;�!��� ��� ��&�
�� ����

������� �����������!%���'�%��-�:��� 

(i) �0� 0�%��7��� ���U-�� ������P���� ���

�)���
�!���01�*�

(ii) �0�%�;��������-���-���������!������


��%7���%������01�*�

(iii) �0� 3�74��� %�4� ?�S�� �����39-��

0�%��7���%�;����� ������	
����01�*�

�

(iv) #�0��� ����
���� ��� 	������ ���3��

H������-�����Q��R�T���0-��01*�

 

#!�)�Q�����������1�-��/���������0-�0-�0-�0-��01/01��6�
�

[1] (i), (ii), (iii) 	�1%�(iv) 

[2] (ii), (iii) 	�1%�(iv)�

[3] �����(iii)  

[4] (ii) 	�1% (iii) ��������

  
*��� Consider the following statements 

regarding the Governor of Haryana : 

(i) He is the Chancellor of Central 

University of Haryana.�

(ii) He can hold any office of the 

profit in the State.�

(iii) He is the President of Indian Red 

Cross Society, Haryana State 

Branch.�

(iv) He does not have any 

discretionary power granted 

under the Constitution. 

Which of the above statement(s) 

is/are correct ? 

[1] (i), (ii), (iii) and�(iv) 

[2] (ii), (iii) and�(iv)�

[3] Only (iii)  

[4] Both (ii) and (iii) �

�+�� 0�%��7�����������������	�1%�%�;��������-�

�-9���0�1���

[1] 7 	�1%�4  

[2] 10 	�1%�4 

[3] 10 	�1%�5  

[4] 12 	�1%�5�

  
�+�� The Lok Sabha and Rajya Sabha 

seats in Haryana are :�

[1] 7 and�4  

[2] 10 and�4 

[3] 10 and�5  

[4] 12 and�5�
ssssss  
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�����������������������������������������������������������������
��������������������������������������������������������� �!���"���#����
���������	
����������	��
�����
��������
�������������
����	������	
�������
������
����

���� ��$��	��%&���'(���

[1] IPv6�)���*�" �����IPv4��%&���

��

[2] IP��%&����+������	���%&�����������,��

�

[3] MAC� �%&��� �+��� %��)��� �%�&�� ���

�����,�� 

[4] ���-���������
��%&���

  
���� Socket address is : 

[1] IPv4 address translated to IPv6 

address 

[2] Combination of IP address and 

port address 

[3] Combination of MAC address 

and domain address 

[4] Application layer address�

���� *��	�"	��% �
��,�����������	��"������

[1] Printer, MICR, Bar Code Reader�

[2] Speaker, OMR, VDU�

[3] Plotter, VDU, Headphone�

[4] Headphone, OCR, Joystick�

  
���� Choose valid set of output devices : 

[1] Printer, MICR, Bar Code Reader�

[2] Speaker, OMR, VDU�

[3] Plotter, VDU, Headphone�

[4] Headphone, OCR, Joystick�

���� �./	&0	
� ����1�-� ��2�.����� )��� ����� )��� ���
��(�3���C++�)���*���������'(�4�

[1] ��$�-��./	&0	
�

[2] �. ,����./	&0	
�

[3] *�� 
���%�%��./	&0	
�

[4]  �"�*���./	&0	
�

  
���� Which of the following constructor 

related concept is non-relevant in C++ ? 

[1] copy constructor 

[2] conversion constructor 

[3] overloaded constructor 

[4] virtual constructor�



������ ��� ���

��	�
��
���� � �

�!�� �������5��,��~ (A * B) * (~A + B) * 

(~B + B) �����)�������������
��
�'(�4�

�

[1] ~A  

[2] ~B�

[3] ~A + ~B  

[4] A * B�

  
�!�� Boolean expression ~ (A * B) * (~A 

+ B) * (~B + B) is equal to which of 

the following ? 

[1] ~A  

[2] ~B 

[3] ~A + ~B  

[4] A * B�

���� NTFS��+���FAT 32�	������������	
��-�

�������6���������	����.1��'(�4�

[1] %-7��)��	����� �

[2] /�(�����

[3] ���	��� �

[4] 8�$)���	���

  
���� Terms NTFS and FAT 32 are closely 

related to which action on computer ? 

[1] Defragmentation  

[2]  Scanning 

[3] Booting  

[4]  Formatting�

� �� %�	����)� ��	 0��� ���� .........� ��	 0��� ��-�

�'��,����'(#�

[1] ���0����*���
��.	�%�

[2] 9��	�+��

[3] ���0�������

[4]  �
�38�
��

  
� �� Datagram networks are also referred 

to as ......... networks. 

[1] Connection oriented 

[2] Bluetooth 

[3] Connectionless 

[4] Wi-Fi�
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�"�� �����	
� �+��� 
�	
��	���� ������� )���*����*����*����*�����

����"�� ��-�,����

�

[1] Code Red  

[2] Melissa�

[3] I Love You  

[4] Comodo�

  
�"�� In the context of computers and 

internet, choose the odd one out 

from the following : 

[1] Code Red  

[2] Melissa�

[3] I Love You  

[4] Comodo�

�#�� VGA������:����'(���

[1] � �%��������80����
��

[2] � ,"*������8�����
��

[3]  ���	�
�����8��%��	
�

[4]  �/	�����80���%��	
�

  
�#�� VGA stands for : 

[1] Video Graphics Array 

[2] Visual Graphical Array 

[3] Versatile Graph Adapter 

[4] Vast Graphics Adapter�

���� ���)�(,����	����)������������$�)�,��%;���

����������"0��SQL��)��%�'(���

[1] ALTER  

[2] UPDATE�

[3] CHANGE  

[4] ADD NEW�

  
���� SQL command used to add a new 

column in an existing table is : 

[1] ALTER  

[2] UPDATE�

[3] CHANGE  

[4] ADD NEW�



������ ���#���

��	�
��
���� � �

�$$�� ...... ������������� ����
	��
��"���*���� ����

������0����-��'����������������,����'(#�

[1] 9��$<�� �

[2] *�
%���	8�����

[3] �/6�	=�� �

[4] ���-,�

  
�$$�� ........ are used to identify a user who 

returns to a website. 

[1] Blogs  

[2] Identifiers 

[3] Scripts  

[4] Cookies�

�$��� ��
0 -/	� ��)��� ��� *�"��
>� )��� �����$��
��<��� ���� �"��� ������ �
��� ��� ����
*� ���� ����� '(� ��� �(������� �
� �)� ���
�)>� )��� ��<��� )��� ���/+��� �?��)�
*� @��� .......... '��#�
�

[1] ����"��-� �

[2] ����
��
�

[3] �-�*�1�-� �

[4] �����
��"���

  
�$��� As per Nyquist theorem, to 

reproduce the original analog signal 

one necessary condition is that the 

sampling rate be at least ........ the 

hightest frequency present in the 

original signal. 

[1] twice  

[2] equal to 

[3] half of  

[4] four times�

�$��� 2
30� ��
	� �+��� 2

50� ��
	� 6)���� .........�

�+���..........�����)���'(�#�

[1] 1 Megabyte, 1 Terabyte 

[2] 1 Gigabyte, 1 Petabyte�

[3] 1 Exabyte, 1 Zettabyte�

[4] 1 Terabyte, 1 Yottabyte�

  
�$��� 2

30
 bytes and 2

50
 bytes are 

respectively equal to ........ and ....... . 

[1] 1 Megabyte, 1 Terabyte 

[2] 1 Gigabyte, 1 Petabyte�

[3] 1 Exabyte, 1 Zettabyte�

[4] 1 Terabyte, 1 Yottabyte�
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��	����������� )��>� ..........�
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��	����
���
��������������*��������*�'�����
��� ����
��������(��
��
���������)������������1���'(#�
�

[1] AMAZON�

[2] NETIQUETTE�

[3] NET NEUTRILITY�

[4] EQUALITY �

  
�$��� In the context of internet, ........ is 

related with the rules of framing 

messages that will not hurt other 

users of internet. 

[1] AMAZON�

[2] NETIQUETTE�

[3] NET NEUTRILITY�

[4] EQUALITY�

�$!�� LOC� �.)"��� ��$A	 ��
� �/	-)����� )�$%��

E = 3.2 * (KLOC)
1.05��'�����'(���

[1]  �!/	��3�8���0��)�$%��

[2] ���-�3������-�)�$%��

[3] ���')�������)�$%��

[4] KLOC > 9��������%�$	-�)�$%��

  
�$!�� LOC oriented software estimation 

model E = 3.2 * (KLOC)
1.05

 is called : 

[1] Walston – Felix model 

[2] Bailey – Basili model 

[3] Boehm simple model 

[4] Doty model for KLOC > 9�

�$��� � �%��,�8.1������	&�����(���)��� �����)������

��(�3��� � �!�� �%/���� ���
	���� ���

�)����,�>� 1 ��� �+��� B,��� � �!����� ���

�����1���'(�4�

[1] � �%��,�)������	-���.	
�

[2] �������.	
�

[3] ��0������.	
�

[4] �% �
��)(��,
�

�

  
�$��� In windows 8.1 which of the following 

options in control panel is related to 

adjustment of display brightness, 

volume and power options ? 

[1] Windows Mobility Center 

[2] Sync Center 

[3] Action Center 

[4] Device Manager�



������ ���$���

��	�
��
���� � �

�$ �� DBMS� )��� %�%��$�� ��� ������ ��� ������� )��>�

wait-die� �+���wound-wait� /�-)� ......�

���-��'(#�

[1] ��������������	 �

[2] ����������$�-������	 �

[3] 6)����������	 ��+�����$�-������	 �

�

[4] 6)������$�-������	 ��+���������	 �

  
�$ �� In context of deadlock prevention in 

DBMS, wait-die and wound-wait 

schemes are ........ techniques. 

[1] both preemptive 

[2] both non-preemptive 

[3] preemptive and non-preemptive 

respectively 

[4] non-preemptive and preemptive 

respectively 

�$"�� C++� )��>� ����� )��� ��� ��(�3��� STL� ���
*.���������%
�
5%���	��
��'-��'-��'-��'-�����'(�4�

[1] 0�"� �

[2] %-0�"�

[3] �������
	-�0�"� �

[4] /	(��

  
�$"�� In C++, which of the following is 

not a derived container under STL ? 

[1] queue   

[2]  deque 

[3] priority queue  

[4]  stack�

�$#�� ������8�G(V, E)�����������-����%=���-�

�%��-,� ��� ����� .........� ��� C�
�� ����� ,��

�����'(#�

[1] |E|  

[2] 2 × |E|�

[3] 2 × |V|  

[4] |V|�

  
�$#�� Sum of degrees of all nodes for a 

graph G(V, E) can be given by ...... . 

 

[1] |E|  

[2] 2 × |E|�

[3] 2 × |V|  

[4] |V|�
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���� � ���������

�$��� � �%��,�)���������
,��������*.�����%�/�	�$��

�(�����D%>���
>����D%��+��� /6-���� 
�

���� ��� ��+�� ��
 ����� �
��� ��� ���� ')�

.....����������'(�#�

[1] ��� ����.�� �

[2] +�-���

[3] '��)���"��� �

[4] ���%=������

  
�$��� Under personalization in windows 

we can create .......... to change 

desktop background, color, sound 

and screen saver all at once. 

[1] navigations   

[2] themes 

[3] home groups  

[4] schedulers�

��$�� �)E� ��E3�0���� )��� ���F�� ��-	� ���� /6�$��

�
��� �)�� )� ���G�� ���0������ �+��� /��������

�����@�F	����
�
�������� ���� ........�� �!��

���������������,�������'(#�

[1] '��%�<��

[2]  �$��� �%���

[3] 7-,;���.��

[4] ����	�	�
	!��

  
��$�� In MS-Excel ..... option can be used 

to keep the desired rows and 

columns visible while the rest of the 

sheet scrolls. 

[1] Headings 

[2] Watch window 

[3] Freeze panes 

[4] Print Titles�

����� ���� ')�100� �@FH� ����� �)�	��-� �
� ���
��� 	�0/	� %�$0�")��	� ���� %������%� �
���
��'��� '(�� ���� �(��� ��� ����*� ���� ��	�

�	��-��D�����-�,�#�)��������-������,�
�
� 24� ���0���I� '(�� �,�)��� ����� ���0�� 80�
�(
�0	���'(�� �+��� ��:�����(
�0	
�8� ��	����
��J����'(���

[1] 1.53 Kbps [2] 240 Kbps�

[3] 2.1 Mbps [4] 1.636 Mbps�

  
����� Calculate the required bit rate of a 

channel if we need to download a 

text document at the rate of 100 

pages per minute. Assume that a 

page has 24 lines with 80 characters 

in each line and one character is 

represented using 8 bits : 

[1] 1.53 Kbps [2] 240 Kbps�

[3] 2.1 Mbps [4] 1.636 Mbps�



������ �������

��	�
��
���� � �

����� IEEE 802.11 )����........���������1���'(#�

[1]  ��
����LAN 

[2]  ��%��LAN�

[3] 9��	�+����	��8������

[4] 	��������

  
����� IEEE 802.11 standard belongs to : 

[1] Wireless LAN 

[2] Wired LAN 

[3] Bluetooth Certification 

[4] Token Bus�

����� ��E� 	-E� �)E� ��E 5 ........� ���)��	�

 ����,�)���
)�,>����8�� ��������%�*�$9,�0	=��

�,�)���	�0/	��+���
)�,�'�����'(�>������)�� F	�

�
���)������"0��'�����'(#�

[1] <figure> [2] <fig>�

[3] <photo> [4] <pic>�

  
����� In HTML5 the ............. element is 

used to include images, graphs and 

compound objects that contain text 

and images, in webpage. 

[1] <figure> [2] <fig>�

[3] <photo> [4] <pic>�

��!�� /����/����/����/����-I��+���/����/����/����/����-II��
�� ��
��-�,����

���� /����3/����3/����3/����3I���� ���� /����3/����3/����3/����3II 

i. 3D /	��%���� a. ����
�,� 

ii. ��".�" b. �.	-� ��
� 

iii. %��%������
 

c. ��-)���� 

iv. )(0�+���� d. *�$�
��	���
� ��/	) 

v.  �
K��
�/0�" e.  �������,
 
/����/����/����/����-I��+���/����/����/����/����-II�����")���'(���
[1] i-d, ii-a, iii-c, iv-b, v-e�
[2] i-c, ii-d, iii-a, iv-e, v-b�
[3] i-e, ii-a, iii-b, iv-c, v-d 

[4] i-c, ii-e, iii-b, iv-d, v-a�

  
��!�� Consider Column-I and Column-II : 

 Column-I  Column-II 

i. 3D Studio a. Search Engine 

ii. Ubuntu b. Anti virus 

iii. Duck Duck  

 Go 

c. Animation 

iv. Maxthon d. Operating 

 System 

v. Vipre Rescue  e. Web Browser 

Match the Column-I and Column-II is : 

[1] i-d, ii-a, iii-c, iv-b, v-e�
[2] i-c, ii-d, iii-a, iv-e, v-b�
[3] i-e, ii-a, iii-b, iv-c, v-d 

[4] i-c, ii-e, iii-b, iv-d, v-a�



 ������� ������

��	�
��
���� � ���������

����� C++�)��>���/��8������J��)�����
����F���

���*�� 
���%�%��"�
-�*�$�
�	
�����8�0����

*�<�"�)��	������(
� �
� �������
����� �����

,�����-�*� ������'���-�4�

�

[1] ���.��

[2] ���

[3] ����

[4] ����"�
-�*�$�
�	
�����*�� 
���%��'-��

�����,�������

�

  
����� In C++, an overloaded unary 

operator defined as a member 

function requires how many 

variables to be passed as function 

argument ? 

[1] Zero 

[2] One 

[3] Two 

[4] An unary operator can not be 

overloaded�

�� �� C++�����
��

� do 

 { 

      cout < < "save trees"; 

 } while(0); 

���C�
�� 'save trees'� ����-���
����������
�����,������4�

[1] ��� �

[2] ����

[3] ���.�� �

[4] *����

  
�� �� How many times 'save trees' will be 

displayed by C++ loop ? 

 do 

 { 

      cout < < "save trees"; 

 } while(0); 

 

 

[1] One  

[2] Two 

[3] Zero  

[4] Infinite�



������ ���!���

��	�
��
���� � �

��"�� ��E� 	-E� �)E� ��E� ��/�
D�35 )��� 
��

�: ������=��������0������)�'��������"�	��

�
���'(���

[1] <web>  

[2] <link>�

[3] <nav>  

[4] <a href>�

  
��"�� In HTML version-5, the purpose of 

this element is to encapsulate group 

of links : 

[1] <web>  

[2] <link>�

[3] <nav>  

[4] <a href>�

��#�� �)E���E3 %������������)��>�.........�
�%��	����

C�
�� ��� �(
����8� �-� ���
-� �+��� �����

�-����-����-����0��������������(
����8��-�

��+�)����0���-��"����)���*�1���
�%��	������

,����'(#�

[1] %�� 	�� �

[2] ����%���
��

[3] �
 ���� �

[4] '(������

  
��#�� In context of MS-Word, with a ......... 

indent, the second and all the 

following lines of a paragraph are 

indented more than the first line of 

the paragraph. 

[1] divert   

[2] second line 

[3] reverse  

[4] hanging�

����� %�	���������������)����
������R��+���S��
�

��	� *�$�
�������� �
� � ��
� �
��� �+��� �:��:��:��:��
�+�������"�� ��-�,����

[1] (R – S) ∪ (S – R) = φ�

[2] (R – S) ∪ (S – R) = R ∩ S�

[3] (R – S) ∩ (S – R) = φ�

[4] (R – S) ∪ (S – R) = R ∪ S�

  
����� In context of databases consider set 

operations on relation R and S, and 

select a true statement : 

[1] (R – S) ∪ (S – R) = φ�

[2] (R – S) ∪ (S – R) = R ∩ S�

[3] (R – S) ∩ (S – R) = φ�

[4] (R – S) ∪ (S – R) = R ∪ S�



 ������� ������

��	�
��
���� � ���������

��$�� �����)��������(�3�����������!,�����������

�����5��,���'-��'-��'-��'-��'(�4�

[1] ~ x + (y ∗ ~ z) + x + ~ y = 1�

[2] x ∗ ~ y + ~ x ∗ y + ~ x ∗ ~ y = 1�

[3] ~ (x + y + z) = ~ x ∗ ~ y ∗ ~ z�

[4] x ∗ ~ y + ~ x ∗ y + x ∗ y = x + y 

�

  
��$�� Which of the following is not a valid 

expression of Boolean algebra ? 

[1] ~ x + (y ∗ ~ z) + x + ~ y = 1�

[2] x ∗ ~ y + ~ x ∗ y + ~ x ∗ ~ y = 1�

[3] ~ (x + y + z) = ~ x ∗ ~ y ∗ ~ z�

[4] x ∗ ~ y + ~ x ∗ y + x ∗ y = x + y�

����� 	)��L��+��	��� �M�........��������.1���'(#�

[1] ��$A	 ��
�N�
D���
�

[2] ��$A	 ��
�� 8�����
�

[3] �
0 ��
)��	�� ���F�D��

[4] '�%� ��
�� 8�����
�

�

  
����� Term 'bath tub curve' is related to ..... . 

[1] Software wear out rate 

[2] Software failure rate 

[3] Requirement analysis 

[4] Hardware failure rate�

����� %�	����� )��� 2-8�,� ��$����� ��� ������� )��>��
��� 	&��,�0���� ��$�� �� ���� .......� 8�,� )���
�+���*���$�� �� ���� ........�8�,� )��� ,�
-�
�
���'(#�

[1] ����
��>��O������

[2] ���*%�>��0�0���� �

[3]  �	>� "�%�

[4] �0������	>�
������	�

  
����� In context of 2-phase locking 

protocol in DBMS, a transaction 

issues lock requests in ......... phase 

and unlock requests in ........ phase. 

[1] Growing, Shrinking 

[2] Shared, Exclusive 

[3] Wait, Wound 

[4] Explicit, Implicit �



������ ��� ���

��	�
��
���� � �

����� V = {P, Q, R, S, T}��+���E = {PQ, 

RS, TP, PS, QR, PT, ST, QP, RQ, 

TS}  ����������8�G(V, E)�)���*�1���)�


�3�%��-� ���  	��0�� .........� '(� �+���

*�1���)�*��	3�%��-���� 	��0��.......�'(#�

�

[1] P, S  

[2] T, Q�

[3] Q, R  

[4] S, P�

  
����� In directed graph G(V, E) where  

V = {P, Q, R, S, T} and E = {PQ, 

RS, TP, PS, QR, PT, ST, QP, RQ, 

TS}, the vertex with maximum in-

degree is .......... and vertex with 

maximum out-degree is ......... . 

[1] P, S  

[2] T, Q 

[3] Q, R  

[4] S, P�

��!�� C++���� ������� )��� /����3/����3/����3/����3I��+��� /����3/����3/����3/����3II�
�
�� ��
��-�,����

���� /����3/����3/����3/����3I���� ���� /����3/����3/����3/����3II 

i. Private� a. Data type  

modifier 

ii. Sizeof b. Visibility specifier 

iii. Static c. Operator�

iv. Long d. Storage class 

/����/����/����/����-I��+���/����/����/����/����-II�����")���'(���

[1] i-d, ii-c, iii-a, iv-b�

[2] i-c, ii-d, iii-b, iv-a�

[3] i-a, ii-d, iii-b, iv-c 

[4] i-b, ii-c, iii-d, iv-a�

  
��!�� Consider Column-I and Column-II 

in context of C++ : 

Column-I���� Column-II 

i. Private� a. Data type  

modifier 

ii. Sizeof b. Visibility specifier 

iii. Static c. Operator�

iv. Long d. Storage class 

Match of Column-I and Column-II is : 

[1] i-d, ii-c, iii-a, iv-b 

[2] i-c, ii-d, iii-b, iv-a 

[3] i-a, ii-d, iii-b, iv-c 

[4] i-b, ii-c, iii-d, iv-a�



 ���"��� ������

��	�
��
���� � ���������

����� �)��� *���
� �-� ��
� 7���� �+��� *�H�

��,�,� � �� LRU� ��,� �
����)��	� ���-��

)�����'"�>�
�8
�.���/	&���3, 2, 4, 1, 3, 5, 

2, 1, 7, 3, 0� ��� ���� ��,� 8�$!	=�� �-�

�������-��D�����-�,����

[1] 3 [2] 4�

[3] 5 [4] 6�

  
����� Calculate number of page faults for 

reference string 3, 2, 4, 1, 3, 5, 2, 1, 

7, 3, 0 considering four frames and 

eight pages of equal size and LRU 

page replacement technique : 

[1] 3 [2] 4 

[3] 5 [4] 6�

�� �� ��)�8��
� ��� ������� )��� Wait()� �+���

Signal()�8��������� ������������%� ����

� �!������"�� ��-�,����

[1] Wait (s) { while (s) < = 0; s + + } 

and signal (s) { s – –; }�

[2] Wait (s) { while (s) < = 0; s – – } 

and signal (s) { s + +; }�

[3] Wait (s) { s – –; } and signal (s) 

{ while (s) < = 0; s + + }�

[4] Wait (s) { s + +; } and signal (s) 

{ while (s) < = 0; s – –; }�

  
�� �� In context of semaphores choose the 

option with valid codes for wait() 

and signal() functions : 

[1] Wait (s) { while (s) < = 0; s + + } 

and signal (s) { s – –; }�

[2] Wait (s) { while (s) < = 0; s – – } 

and signal (s) { s + +; }�

[3] Wait (s) { s – –; } and signal (s) 

{ while (s) < = 0; s + + }�

[4] Wait (s) { s + +; } and signal (s) 

{ while (s) < = 0; s – –; }�

��"�� ��
�
-� ����%��� ��/	)� 8421� ��� 1000,�

��
�
-�����%�����/	)�.........�)���1011����

�
��
�'(#�

[1] 5211  

[2] Excess-3�

[3] 2421  

[4] 4221�

  
��"�� 1000 of 8421 binary coding system 

is equal to 1011 in ........ binary 

coding. 

[1] 5211  

[2] Excess-3�

[3] 2421  

[4] 4221�



������ ���#���

��	�
��
���� � �

��#�� �)E���E���$ 
� �
�	32007�)��>������)������

���� � �!�� ��� ������� ��� /��
%� ���� A4�

*���
��
���	������,�������'(�4�

[1] Home – layout�

[2] Design – page setup�

[3] View – slide master�

[4] Slide show – setup 

�

  
��#�� In MS-PowerPoint-2007, size of a 

slide can be set to A4 size using 

which of the following options ? 

[1] Home – layout�

[2] Design – page setup�

[3] View – slide master�

[4] Slide show – setup�

����� C++� )���  �"�*�� 8������ ��� ��
�� )��� �:��:��:��:��
�+����������"�� ��-�,����

I :  �"�*�� 8��� ���-� 0���� ��� ��/��
8���'�����'-����'�#�

II :  ��/	��	����/���'-��'�������#�

III: ���  �"�*�� 8��� *.�� 0���� ���
�)P�8���'��������'(#�

[1] I��+���II  

[2] II��+���III�

[3] I��+���III  

[4] I, II��+���III�

  
����� Choose true statements about virtual 

functions in C++ : 

I : The virtual functions must be 

member of some class. 

II : They cannot be static members. 

III: A virtual function can be a 

friend of another class. 

[1] I and II  

[2] II and III 

[3] I and III  

[4] I, II and III�



 ������� ������

��	�
��
���� � ���������

��$�� OSI )�$%� )�� ���������� �� �)��� �-�,� ��

i. ���(����

���
�

a. %����$�� ��	&����

� ����.6����
,���� 

ii. %�	�� �����

���
 

b. ��	=�� ���

��.6����
,���� 

iii. ������

���
 

c. 	&��������� �+���

������� 

iv. ��,�.	�����

���
 

d. �

� �.	&���� �+���

7��)�� 

[1] i-b, ii-d, iii-a, iv-c 

[2] i-a, ii-c, iii-b, iv-d 

[3] i-c, ii-a, iii-d, iv-b 

[4] i-d, ii-b, iii-c, iv-a��

  
��$�� In OSI model match the following : 

i. Physical 

layer 

a. Dialog control & 

synchronization 

ii. Data link 

layer 

b. Synchronization 

of bits 

iii. Session 

layer 

c. Translation & 

compression 

iv. Presentation 

layer 

d. Error control & 

framing 

[1] i-b, ii-d, iii-a, iv-c 

[2] i-a, ii-c, iii-b, iv-d 

[3] i-c, ii-a, iii-d, iv-b 

[4] i-d, ii-b, iii-c, iv-a�

����� �)E���E���$ 
� �
�	�)���8�0�����"�,-�F7�

...........�����������"0��'���-�'(#�

[1] ��"Q*������/��
%������������

[2]  ��)���/��
%����/��
%�������������

[3] /�����������������

[4] ����	����5�"��������

  
����� In MS-PowerPoint function key F7 

is used to ......... . 

[1] run slide show from beginning 

[2] run slide show from current slide 

[3] run spelling check 

[4] view the print preview�



������ ��!$���

��	�
��
���� � �

����� HTML )��� �'� ���)��	� 	�0/	� �-� )�(,����
�����:)���� ���� ��
 ����� �
��� )��� ���"0��
'�����'(���

[1] <dd>  

[2] <dfn>�

[3] <pre>  

[4] <bdo>�

  
����� This element is used to change the 

current directionality of the text, in 

HTML : 

[1] <dd>  

[2] <dfn>�

[3] <pre>  

[4] <bdo>�

����� ���������)�$%������������UML�%�����)�

���� ����	�� �
���  ���� 	�!�� ��� ������� )���

/����/����/����/����-I��+���/����/����/����/����-II��
�� ��
��-�,����

���� /����3/����3/����3/����3I���� ���� /����3/����3/����3/����3II 

i. Power 

Designer�

a. IBM 

ii. Rational Rose b. Microsoft 

iii. Visio c. Sybase�

iv. Argo UML d. Open source 

/����/����/����/����-I��+���/����/����/����/����-II�����")���'(���

[1] i-b, ii-a, iii-d, iv-c�

[2] i-c, ii-a, iii-b, iv-d�

[3] i-d, ii-b, iii-c, iv-a 

[4] i-c, ii-d, iii-a, iv-b�

  
����� Consider Column-I and Column-II 

in context of tools to support UML 

diagram for analysis modeling : 

Column-I Column-II 

i. Power 

Designer 

a. IBM 

ii. Rational Rose b. Microsoft 

iii. Visio c. Sybase 

iv. Argo UML d. Open source 

Match of Column-I and Column-II is : 

[1] i-b, ii-a, iii-d, iv-c 

[2] i-c, ii-a, iii-b, iv-d 

[3] i-d, ii-b, iii-c, iv-a 

[4] i-c, ii-d, iii-a, iv-b�



 ��!���� ������

��	�
��
���� � ���������

��!�� ��� �
������R� �
� ����� �6���I��
������
����SQL��)��%=������"�� ��-�,����
�

I : �
������R����� %�	�����)��� 
����� �
.�"�
�������
��	�!���%�-	��
��#�

II : �
������R���� ��
�� )��� �)/��������I�
%�	���������%�-	��
��#�

[1] I : Drop table R; II : Delete from R�

[2] I : Delete from R; II : Drop table R�

[3] I : Delete table R; II : Drop from R�

[4] I : Alter table R; II : Alter R Drop�

  
��!�� Choose the SQL commands to 

perform following operations on a 

relation R : 

I : Retain Relation R in database, 

but delete all tuples in R. 

II : Delete all information about R in 

Database. 

[1] I : Drop table R; II : Delete from R 

[2] I : Delete from R; II : Drop table R 

[3] I : Delete table R; II : Drop from R 

[4] I : Alter table R; II : Alter R Drop�

����� (929.19)10 = ? 

[1] (1641.141)8  

[2] (1640.41)8�

[3] (1632.141)8  

[4] (1543.34)8�

  
����� (929.19)10 = ? 

[1] (1641.141)8  

[2] (1640.41)8�

[3] (1632.141)8  

[4] (1543.34)8�

�� �� ����� )��� ��� ��(�3��� *�B	�"	� �)E��E-

�0����8���= RAND()����*���N����'-��'-��'-��'-��
'(�4�

[1] 0.73  

[2] 1�

[3] 0.01  

[4] 0.99�

  
�� �� Which of the following output is not 

expected from MS-excel function = 

RAND()  ? 

[1] 0.73  

[2] 1 

[3] 0.01  

[4] 0.99�



������ ��!����

��	�
��
���� � �

��"�� ���� ��� �
������ R� �
� ����� �����:)��

�����
���I�)�(,���'(��� A → B, A → C, 

BC → D, C → F, B → E,���������)���

�����(�3�-������:)�������
���R��
�)�(,���

�'-��'-��'-��'-�� '(�4�

[1] A → DE  

[2] BC → DEF�

[3] A → EF  

[4] BD → EF�

  
��"�� If the following functional 

dependencies holds on a selection R : 

A → B, A → C, BC → D, C → F,  

B → E, then which of the following 

dependency does not hold on R ? 

[1] A → DE  

[2] BC → DEF�

[3] A → EF  

[4] BD → EF�

��#�� EBCDIC ���%�1111 1001 �(
�0	
�.....�

������J�����
���'(#�

[1] F  

[2] R�

[3] I  

[4] 9�

  
��#�� EBCDIC code 1111 1001 represents 

the character ......... .�

[1] F  

[2] R�

[3] I  

[4] 9�

����� �����)��������(�3��� �
�
�����
�������0 ��

��$	�� �!����
+)� �-�  /	�� ���� 	�
)�

��$�����0�	-���������1���'(�4�

[1] T(n) = T(n/2) + C�

[2] T(n) = 2 . T(n/2) + Cn�

[3] T(n) = T(n–1) + Cn�

[4] T(n) = 7 . T(n/2) + Cn
2�

  
����� Which of the following recurrence 

relation is related to worst case time 

complexity of quick sort ? 

[1] T(n) = T(n/2) + C�

[2] T(n) = 2 . T(n/2) + Cn�

[3] T(n) = T(n–1) + Cn�

[4] T(n) = 7 . T(n/2) + Cn
2�
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��	�
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���� � ���������

�!$�� �)E� ��E3*�$�8��  %�� )��>� %�$0��)��	� ���

/	&0�
��5������,�
������ ��	��
��������� 

....... � �!�����"0��'�����'(��+�����:������,�

�-�G��	-��/ -
����,�
�����������%�$0��)��	�

)������ ��	��
��������� ....... � �!�����"0��

'�����'(#�

[1] Thumbnails, document map�

[2] Outline view, thumbnails�

[3] Document map, draft view�

[4] Document map, thumbnails�

  
�!$�� In MS-Office Word, .......... option is 

used to navigate through structural 

view of document and ......... option 

is used to navigate long document 

through small pictures of each page. 

 

[1] Thumbnails, document map�

[2] Outline view, thumbnails�

[3] Document map, draft view�

[4] Document map, thumbnails�

�!��� C++�����������)��>������)��������(�3������

������+���'(�4�

[1] ��� 0���� ��� �)P� 8��� ��( � ���

0���������/��8���'�����'(#�

�

[2] /	��	��%�	����/�����)��������
�

*��
�� �
��� ��� ���� ��
 ����� �'-��

�����,������#�

[3] ��� 0���� )��� Private, Protected 

�+���public �-- %=������-���-�6)�)���

�+�������-���-���
�*�������'(�#�

�

[4] ���0�������/	��	��%�	����/���� ��

���0�������/	��	����/��8���C�
��

'-��0���������,�������'(#�

  
�!��� In context of C++, which of the 

following is a valid statement ? 

[1] Friend function of a class is 

always member function of that 

class. 

[2] Value of static data member 

cannot be changed once 

assigned. 

[3] Keywords private, protected and 

public may appear in any order 

and any number of times in a 

class.  

[4] Static data member of a class 

can be accessed only by static 

member function of that class.�



������ ��!!���

��	�
��
���� � �

�!��� ����� )��� ��� ��(�3��� �"<)� �)E� ��E�

��$ 
� �
�	� )��� ��	�� ��� ����
���� ���� ��J����

�
���'(�4�

[1] Area, Surface �

[2] Callout, Venn�

[3] Pyramid, Matrix�

[4] Clip, Smart�

  
�!��� Which of the following pairs 

represents types of charts in MS-

PowerPoint ? 

[1] Area, Surface�

[2] Callout, Venn�

[3] Pyramid, Matrix�

[4] Clip, Smart�

�!��� �����)��� �����(�3������ �������,
��'-��'-��'-��'-��
'(�4�

[1] MOSAIC  

[2] SAFARI�

[3] MINIX  

[4] OPERA�

  
�!��� Which of the following is not a web-

browser ? 

[1] MOSAIC  

[2] SAFARI�

[3] MINIX  

[4] OPERA�

�!!��  -�� ���		-� ��	� ��� ..........� ���  -��

���		-� ��	� �-� ��� ���-� ���		-,� )��� �����

�
���'(�,������-����� ���F	�/	&�������		-�

�
������
�'(#�

[1] Primary key�

[2] Discriminator�

[3] Identifying Relationship�

[4] Candidate key�

  
�!!�� The ........... of weak entity set 

distinguishes among all those entities 

in the weak entity set that depends 

upon one particular strong entity. 

[1] Primary key�

[2] Discriminator�

[3] Identifying Relationship�

[4] Candidate key�



 ��!���� ������

��	�
��
���� � ���������

�!��� �)E��E3�0���� )��� ���� ��� ���� )���

8�$)�����%��������������	
��"�,-���� /+����

�
� .......� 8�0���� �"�,-� ���
�� ,���>� ����

8�$)����������
D��)��������)��� (!������J��

)��� /+������ '��� ,������ �+��� 8�$)����� ���� ���

'	�,�����#�

[1] F12 [2] F11�

[3] F10 [4] F9�

  
�!��� In MS-excel if ........ function key is 

pressed after entering a formula into 

a cell in place of Enter key, the result 

of formula is placed as value in the 

cell and the formula is removed from 

that cell. 

[1] F12 [2] F11�

[3] F10 [4] F9�

�! �� �������5��,��F = (x.y' + x'.y + x'.y')�

����)���'(�� 

[1] x + y' [2] x' + y'�

[3] x' + y [4] x + y�

  
�! �� The Boolean expression F = (x.y' + 

x'.y + x'.y') is equivalent to : 

[1] x + y' [2] x' + y'�

[3] x' + y [4] x + y�

�!"�� �����	
���	 0���)�� ....... 	�������$,-�)���� ���1���

������)���
��"	�*��	�"	����	���+���*�1���)�

)�P��)������������-�*� ������'���-�'(#�

[1] /	�
� [2] �
���

[3] )���� [4] ���

  
�!"�� .......... topology requires highest 

number of ports and largest amount 

of cabling in computer networks. 

[1] Star  [2] Ring 

[3] Mesh [4] Bus�

�!#�� …………........� ��,� �
����)��	� �!����
+)�

)��>�,����-���,�8�$!	�'�����'(�����,�����,�

������)������������)����'-��*����������

'	����,����'(#�

[1] LRU  

[2] Optimal 

[3] FIFO  

[4] LFU�

  
�!#�� In …………........ page replacement 

algorithm, page that will not be used 

for longest period of time is replaced 

whenever a page fault occurs. 

[1] LRU  

[2] Optimal 

[3] FIFO  

[4] LFU�
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�!��� �)E� ��E3*�$�8��  %�� )��� ������ 	�0/	�

���������
 ������
���)������"0�����$	�3�	�

�"�,-�'(���

[1] Ctrl + F3  

[2] Ctrl + F5�

[3] Alt + F3  

[4] Shift + F3�

  
�!��� In MS-Office Word short cut key 

used to change case of selected text 

is : 

[1] Ctrl + F3  

[2] Ctrl + F5�

[3] Alt + F3  

[4] Shift + F3�

��$�� ��$A	 ��
� 	��/	��� ��� ������� /����3/����3/����3/����3I� �+���

/����3/����3/����3/����3II�����")���'(���

���� /����3/����3/����3/����3I���� ���� /����3/����3/����3/����3II 

i. 
��	������ 

	��/	���

a. *!8��	��/	�� 

ii. ����	 	��/	�� b. ��,�����	-�	��/	�� 

iii. �0���	��� 

	��/	�� 

c. %�	�� A����

	��/	���

iv. ��/	) 	��/	�� d. 9�(�� ��$0��

	��/	�� 

[1] i-a, ii-b, iii-d, iv-c�

[2] i-d, ii-c, iii-b, iv-a�

[3] i-c, ii-d, iii-a, iv-b�

[4] i-b, ii-d, iii-a, iv-c�

  
��$�� In context of software testing match 

of Column-I and Column-II is : 

 Column-I  Column-II 

i. Integration 

Testing 

a. Alpha Testing 

ii. Unit Testing b. Usability Testing 

iii. Acceptance 

Testing 

c. Data Flow 

Testing 

iv. System 

Testing 

d. Black Box 

Testing 

[1] i-a, ii-b, iii-d, iv-c�

[2] i-d, ii-c, iii-b, iv-a�

[3] i-c, ii-d, iii-a, iv-b 

[4] i-b, ii-d, iii-a, iv-c�
 



�����������	
������������	
������������	
������������	
�������������	��
� 



 

��� ��������	��
���
�
������	����� ������������������	���	����������������
������������� ��!�����"�
�#�����	��$%���&��� ��' ��"��(�

���������������� 
)���*�����& ��' ��
����'��������#�+'�
� �&�
���������������
	�����,����	������!�����"���(�

�����������������
 �&�+	����- �&����������	���!���&����"�������)��	��
����'��������
#�+'�.�

� �
��� �������� � � �	� � 
�����	��� � ��� 
������ ������ 
��� � �	� � ����

������ ��� �
�������� �	������� ������� ������ ��
��� �
���
�	��������
����	������	����

�����������������

����
�����������������
������	��������������
������
��������
���	����

�����������������

��� �	�� ������	��� ��
�� 	��� ������� ��� ����� ��� ���
���� 
�� 
�

��	���
�������

��� �/�	� �� ����0�1�2�	�� ���� ��� �� ��#��	�� ��+� &$� '��� ����$�#'"� ��� "$� 	���.�  !	�����	��� ��	���� ��� �	��� 	���� ��� ���� ��
���

��	�������������"�����	���		������	�������
���#�

��� �!�$�
����	����$%!�
������	����"$�)��	��	���.�)����
����� ������	�)��	��	���.�
�����&����"��1��������#	�3�/�&�45 �67�	���� ��'�
���8�9�"�.� ����
�������
����	�������	�����	������$%!��������&�����	�����%
����	�������	������
���������'��������

 �����������#�����	��
��	�����	����
������
�������#�

��� ��: �	������	����+��&+�'+�%�����	5������������
�%����	5��	����+�$%!�
������	����	����+	��;���	���"$����$���"�	��������������������
���!����.�+	�����
����)��	��	����	����&�
����&����"$��#���	���"�.� $���	�������	���
�����
�������	���
���
�����	���	����	���

������� �	�� �����	���
���	���
���
������ ��� �	�����
��������	����������������
����
���(	����(���	�� ����$%!��������

&����������
������	�����
���������	��
��	�����	������
�����#�

����)! <�$���1����%��	���� �	����
������	�	������6=����#�+�+���
�����	�����)> �����������'�+?.�)! <�$��)����)�1@���	�
������	�����
����������2<����	��)����A��)> ����������.� �����
����
������	�������������
�������������&���������	���	������)	��	���
���


������
���
���	�������������&������)	��	���������	���!	���*	��
��������������+����� �������������������
����������

�������&�����#�

���� ����0�1�2�	��+���
������	�	��� ������	��� ��'�	���
�A ����	��	�$�!�$�����2<��������3����0�1�2�	��+���
������	�	��@���	������!�>����	$��2<����
	���B��6=	�7�&���$�&���$�&���$�&���$����������������������1�1�1�1�2�	������
��C����"$��	������#�+'$�2�	������
��C����"$��	������#�+'$�2�	������
��C����"$��	������#�+'$�2�	������
��C����"$��	������#�+'$.� ,
����� ����"�����	���		�����
����������&�����������
����
��

�������	���������
�����  �+����� �	���������
���� ���"�����	���		�����
����������&�����&���
��*	�#��	
��
����������

�������
��������������
���������������#�

���� ����0�1�2�	�D
������	������&+�'+�@���	�	���)! <�$���"$���$	�����"2��E���%��������������.� �����
����
������	���������������	������

*������
���������������"�����	���		����-�������&������������&���
�����.�
���#�

����)! <�$��	�����$E���"���D	E����������������)�����"%������	��)����A���	�$���	���	$���FG 0���'�$
��1�&��� ��"2��������	�'#�	$���%� �?
�
��#�
���������/���
����A�H����	�
�	���� ���	�$�)> ���	���	$����'�$�	������#���� ��
� ��'�	����	$�)�1�����"$��"�.� .
����
����
���

�	��
��	�����	��
����
�����+��
���
����
�����������	����������������	���
�������
������	�������	����������	�����������	��


���	������
����
���+���������������.
���
������������.
���������������+
���
��	���
��-�		��#�

���� � ���E�	�*������B��#���������: �	�)! <�$��)�����������	�6��3�������I7�)�����"%�������&���+?.� /
����
����
����������	��	�����
���

���-����������.
��� !	���*	�#�
�������������
����	������������
�	��#�

� �� 	�>&��)��$E�	� ��� ���E�	�	$������8��)�1����	�������	�����)! <�$��)����2<������B��6�=�.� *	��
����
��������	��������
����������	��	��

����&��������������	���������
�	�����	������
������-������
��#�

���� 	� ����� ���E�	�	���)����
������	��&+������+���"2��E���%�������&�������"2��E��� �	+������)! <�$����$E���"�����"$��B��6�=�'�.� �&��	�$�
)! <�$�����&���$�����"2��E���%�������"2��E����"$���	+����� "������#�+'���	�
����
������	��"$������� ��"��)���� "�)�1�%��������	��
�����������#�+'�.�!"#����
������	����� ����������2<�������
������	����� ����������2<�������
������	����� ����������2<�������
������	����� ����������2<��������!�$�!�$�!�$�!�$����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����������������������������'� ��#����"�.�'� ��#����"�.�'� ��#����"�.�'� ��#����"�.�)�'�F��	��)�'�F��	��)�'�F��	��)�'�F��	��
��������'������ ��������	��� ��������#�+��	�2 ���������'������ ��������	��� ��������#�+��	�2 ���������'������ ��������	��� ��������#�+��	�2 ���������'������ ��������	��� ��������#�+��	�2 �"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�
�"1�� 	�.��"1�� 	�.��"1�� 	�.��"1�� 	�.�  ���� �
����
���� ��	���� �	�� ��
��� ���� /+
���
��	�� ,
��� ����	��� �
������ 	���� ������ ������� &����� �	� ����

�������
�	��	�������
���������������&���
�����.�
����������.
����������
��
����
����
���	�������������&���
�����.�
���

���	������������������������	���	��
����
�����	���������������&�����
�����
��������
��
�����
�����
����
����$���

%	
���	����
	��� ���	���&������
	
�� �
�'���'�������
��
� �
��!"#�	
������
����	�� �
����	%�����%�������
�%
�

�
���������������(��
����������
�(��
�����
���������
���������
��������������
�
	�����#�

���� ���A�H����	D"2�%��������	�	�	��
� ��'���#���"�.� 0���	��/�����	���-%
��
��.
����
�	�������	��������#�

���� ��$E���"��������)�%����	����+
�)! <�$���������	������&$�'������@ �D�&���0��&����������6��	���!�$��� �����+������� �����	�������8��� ��������.�)�1�%��
��������� 	�� �!�$� �������� 	�� /����� ���6�� 	�� �� ����� +��� ���� ����� 	�� )�1���� "��'�.�  ���� �
����
���� 
��� �	������� ���

1���������-(�	������� ������ ��� ���� ���	��
��	�� ���������� 
��� !����� 
��� !����
��	��� 	�� ���� �	
��� ����� ���
��� �	� ������

�	�������������/+
���
��	��,
���������
����	�����
�����
�������������
��������
������!�����
���!����
��	���	�������	
���#�

���� �	�$�"������������0�1�2�	��)����
������	�	��	�����!��'�)�'���	���.� *	��
���	������"�����	���		�����
����������&�������
���

������
�����������
�����������
�����#�

���� ��$E����,�>��"�������
�)! <�$��	E�D"����B��6=�����������
������	�	E�0� ���E�	�	���)�� �������&��.�)! <�$��)������<���������0�1�2�	��	������
#�� �	��� "��.�  $�� �	������	�� 	�� ���� ������ ���� �
����
��� ����� �
��� 	���� ���� ������� &����� �	� ���� �������
�	�� ��� ����

!		�-,
���������
����
����
���
��	�����	��
���
�
�������"�����	���		���������������#�
 

����


	921-A.pdf
	ROUGH WORK2.pdf
	921-A_1-30.pdf
	921-A_31-45.pdf
	921-A_46-60.pdf
	921-A_61-90.pdf
	921-A_91-150.pdf
	ROUGH WORK1.pdf
	BACK COVER.pdf

